Amana HE2970 03 - CONTROL PANEL, CONTROL HOOD & CONTROLS

18

)

4

CONTROL PANEL, CONTROL HOOD AND CONTROLS

Amana Residential Amana HE2970 Washer Parts Parts Diagram 03 - CONTROL PANEL, CONTROL HOOD &

54038
56169W

56169H

24903

56168

55985
'Y00000000
91176
52624
26952
53466
25073
55882
52947

CONTROLS
Click on the part number to view part

W10116760

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available

NUt, Speed U-Type
CONTROL HOOD, WHITE

CONTROL HOOD, HARVEST
GOLD

STICKER,DISCONNECT
POW

CONTROL HOOD REAR
COVER

Screw

SEE NOTE CABINET TOP
Lockwasher, 3/8 Intshkp
Switch W/lInstructions
SPACER

TIMER

END CAP, RIGHT
Assembly- Switch

Nut, Hex 15/32-32


http://www.pwslaundry.com/c-502078-residential-amana-he2970-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10392813-amana-54038-washer-dryer-nut-speed-u-type.html
http://www.pwslaundry.com/i-10396475-amana-w10116760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10394109-amana-91176-washer-dryer-lockwasher-3-8-intshkp.html
http://www.pwslaundry.com/i-10396639-amana-58813p-washer-dryer-switch-w-instructions.html
http://www.pwslaundry.com/i-10396307-amana-55882p-washer-dryer-assembly-switch.html
http://www.pwslaundry.com/i-10394132-amana-52947-washer-dryer-nut-hex-15-32-32.html

14
15
16
17
18
19
20
21
22
23
24

25820
52864 500226
56203
Y0054441
0056353
24205
10519
24291
25232
25072
Y0056199

Not Available

Not Available
Not Available
Not Available

Not Available

Not Available

Not Available
Not Available

LOCKWASHER, 1/2 INT SHK
Screw, 8b-16 x 5/8 Tap
GASKET

NAMEPLATE, HANDLE
SCREW

Nut, Knurled 3/8-24
RETAINER

Assembly, Knob
SCREW,8AB-18X7/8 OVAL
END CAP, LEFT
M8D135-ARM HINGE


http://www.pwslaundry.com/i-10393500-amana-500226-washer-dryer-screw-8b-16-x-5-8-tap.html
http://www.pwslaundry.com/i-10394112-amana-24205-washer-dryer-nut-knurled-3-8-24.html
http://www.pwslaundry.com/i-10394119-amana-24291-washer-dryer-assembly-knob.html

	Amana HE2970 03 - CONTROL PANEL, CONTROL HOOD & CONTROLS

